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Diploma Engineering - SEMESTER-IV « EXAMINATION - WINTER 2013

Subject Code: 340606 Date: 06-12-2013
Subject Name: Quantity Survey and Costing
Time: 10:30 am - 01:30 pm Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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1. Give the purposes of detailed estimate.

2. State the deduction rules for plastering.

1. Give the measurement units for Dado, M.H. cover, Air vent pipe and
D.P.C.

2. Write the multiplying factors for Collapsible gate, Ledged and battened
doors, Rolling shutter

Define task work. State factors affecting task work.

Carry out rate analysis for coursed rubble masonry in C.M. (1:6)
OR

Carry out rate analysis for rubble soling (12 mm thick)

A 3 m internal diameter of soak pit having total depth for dry brick masonry is

3.5 m. and wall thickness is 30 cm. Find out the quantities for following items
1. Dry brick masonry for soak pit

2.2 m Brick bat filling

3.10cm R.C.C. slab (1:2:4)

Find out the quantities of following items from Fig.-1 Slab Culvert

1. Foundation Excavation

2. UCR Masonry in C.M.(1:6)

OR

In a hume pipe culvert two abutment having 6 m length 0.90 m width and 2.0
m height are 5 m apart from each other 3 nos. Of Hume pipe having 1.0 m
diameter are provided for culvert. Find out quantities for following items.

1. Brick masonry work in C.M. (1:5) for abutment

2. Nos. of hume pipe having 2.25 m and Nos. of collar joint.
Find out following quantities

1. Weight of principal rafter double angle 60x60x10 mm having 5 m length
2. Painting area of a purlin angle 125x80x10 mm having 10 m length

Find out the quantities of following item from given drawing in Fig.-2

1. Wing wall P.C.(1:3:6)

2. Wing wall masonry in C.M. (1:6)

3. Wing wall C.C. copping (1:2:4)
Fig.-3 shows c/s of a road having 200 m length. Find out volume of earthwork
for a road.

OR

A road is partly in cutting and partly in banking having formation width of
road is 10 m, cross slope of ground is 6:1, and side slope banking 2:1 and in
cutting 1.5:1. Depth of cutting at the centre is 45 cm althrough. Calculate the
quantity of earthwork in banking and in cutting for a length of 300 m.
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1. Define: (i) Day work (ii) Prime cost  (iii) Spot item
2. Write service unit for following:
(i) Hostel (ii) Thermal Power station (iii) Stadium (iv) School

Write detail specification for concrete for foundation (1:4:8)
Write short notes
1. Work charged establishment charges
2. SOR.
OR
Write principles of specification writing
Give methods of preparing approximate estimate and explain any one
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FIG-1 Q.3(b)

COPING C.C.(1:2; 4}_—| n'.nl - !

P

1 020 —T

1.10

1
i B
0.7 2
AT A AT + 0.25
50 ’*‘}{r{ﬂ‘h{ﬂ‘};{*ﬁ‘ P.C.C. (1:3:6)

width '
C/S OF WING WALL

Length of Wall is 5 mt
FIG.-2 Q.4(a)

5/5



